
Time: 10 Minutes Paper Math 3 Total Marks: 10

2nd Month, 1st Week, 4th Day  Syllabus: Unit 2: Exercise # 1

Q.No.1: Solve the following questions. ŠŠŠŠbbbb‰‰‰‰ÎÎÎÎZZZZÑÑÑÑ]]]]ÃÃÃÃiiii™™™™,,,,XXXX

(i) Population of the city 'A' is 6354 and population of the city 'B' is 5332. Find the

total population of both the cities. (5)

ìXŠzâVàzVÅÀXW!*Š~ì¥x™,X 5332 ÅW!*Š~ B ìZzgà 6354 ÅW!*Š~ Aà

(ii) There are 6540 male and 2120 female employees in an organization. Find the

total number of employees. (5)

pZ&»x™C÷X®ÿ
N5i}Å®ZŠCNX 2120 %ŠZzg 6540 Zq-ZŠZg}~
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